Briiche — Dezimalzahlen 1. Bez
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1—02 2—04 3—06 4—08
5 5 5 5
1—0w 2—0§ 3—05 4—06 5—0@
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1—0125 2—025 3—0375 4—05 5—0625 6—075 7—0875
8 8 8 8 8 8 8

1—01 2—02 3—02 4—04 5—05 6—06 7—07 8—0§
9 9 9 9 9 9 9 9

0,1 =0,2 3 =0,3 4-—04 > 0,5 6-—06 7 0,7 8 =0,8 0,9
10 10 10 10 10 10 10 10 10

L _001 ==002 —=003 20z 20,38
99 99 99 99 99
1 _ 0007 2 -0002 —=0003 N2z _ 712 298 _ 0,598
999 999 999 999 999
* Zusatz
L 0,01 2 0,02 3 0,03 31 0,34 >3 0,58
* @ @— = —_— = _— = —_— = _— =
90 90 90 90 90
145 017 687 0.6 239 I 5941 —
* @ — = — = - = I
990 990 9900 9990
1 2 3 4 5 6 -
# o= 0,142857 == 0,285714 = 0,428571 == 0,571428 = 0,714285 == 0,857142
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